S Diamatic

The choice of professionals

Diamatic 580PRO

Service manual
Version 1.0

Service manual

Diamatic
Utrechthaven 12
NL - 3433 PN NIEUWEGEIN
Tel: 0031 (0)30 223 8630
Fax: 0031 (0)30 223 8981
Info@diamatic.eu
The Netherlands

www.diamatic.eu info@diamatic.eu



S Diamatic

The choice of professionals

Table of contents

1. Tools
2. Spare parts

3. Electric schedules
E06863 / 3 x400V / 7,5kW / frequency drive

4. Fault diagnose frequency drive

03

04

24

33

2/37




S Diamatic

The choice of professionals

1. Tools
Diamag grinding wings
Iltem Part number Description Remarks Qty.
BG707301 Diamag wing red box 9 pieces 18/20 1
BG707302 Diamag wing red box 9 pieces 30/40 1
BG707303 Diamag wing red box 9 pieces 60/80 1
BG707304 Diamag wing red box 9 pieces 120/150 1
BG707311 Diamag wing green box 9 pieces 18/20 1
BG707312 Diamag wing green box 9 pieces 30/40 1
BG707313 Diamag wing green box 9 pieces 60/80 1
BG707314 Diamag wing green box 9 pieces 120/150 1
BG707321 Diamag wing blue box 9 pieces 18/20 1
BG707322 Diamag wing blue box 9 pieces 30/40 1
BG200997/SET | Wing PCD split (set of 9) 1
BG200999/SET | Wing PCD 2 x ¥4 (set of 9) 1
Diamag polishing dots
Iltem Part number Description REIMETE Qty.
BG7100100 Diamag dry polishing dot black #100 (set of 9) 1
BG7100200 Diamag dry polishing dot blue #200 (set of 9) 1
BG7100400 Diamag dry polishing dot red #400 (set of 9) 1
BG7100800 Diamag dry polishing dot white #800 (set of 9) 1
BG7101800 Diamag dry polishing dot yellow #1800 (set of 9) 1
BG7103000 Diamag dry polishing dot green #3000 (set of 9) 1
BG707303 Diamag wing red box 9 pieces 60/80 1
BG707304 Diamag wing red box 9 pieces 120/150 1
BG7110050 Diamag wet polishing dot orange #50 (set of 9) 1
BG7110100 Diamag wet polishing dot black #100 (set of 9) 1
BG7110200 Diamag wet polishing dot blue #200 (set of 9) 1
BG7110400 Diamag wet polishing dot red #400 (set of 9) 1
BG7110800 Diamag wet polishing dot white #800 (set of 9) 1
BG7111800 Diamag wet polishing dot yellow #1800 (set of 9) 1
BG7113000 Diamag wet polishing dot green #3000 (set of 9) 1

3/37




S Diamatic

The choice of professionals

2. Spare parts
Frame complete

4/37



S Diamatic

The choice of professionals

ltem ‘ Part number ‘ Description Remarks ‘ Qty.
1 BE0643 Tube cap round 2
2 BG005845/RD Handle for steer 1
3 999-9156 Pipe clamp (set) 2
4 BE0191 M6x50 hexagon socket head bolt DIN 912 4
5 E06861 Operating box complete 1

E01543 Emergency stop

E01318 Start button

E01351/1 Potentio meter (speed switch)

E01323 Left / right switch

E05130 Make contact (green)

E05131 Brake contact (red)
6 BE0641 M10 clamp lever 1
7 BG005835 Steer handle 1
8 BE0640 M12 hexagon shoulder screw 1
9 BG11751-1 Handle locking pin 1
10 E06860 Clamping pin steer 1
11 BG11758 Cord for deadman switch 1
12 BG11759 Key for deadman switch 1
13 BG11760 Deadman switch 1
14 E07008 Chain (11links) 1
15 BE0653 Hook 2
16 E06883 Swing arm for dusthose 1
17 478198 Quick release pin 1
18 BG005338 Cover plate electro box 1
19 BG11915 Electrobox 7,5kW complete 1

BG11915/UL Electrobox 7,5kW compl 230UL 1

| 20 E05135 Electrical inlet 3x400V 32A 1

E05136 Electrical inlet 3x230V 32A 1
21 BG11765 Bolt for wheel 2
22 BE0645 M24 plain washer 2
23 E01491 Wheel 2
24 BE0036 M12x40 hexagon head bolt 2
25 BG005825 Frame 1
26 E06286 Water coupling 1
27 E06285 Waterhose connection 1
28 E06282 Ball valve mini 1
29 E06279 Water reducing coupling 1
30 E01492 Megi bush 2
31 BG11752 Hinge bolt 2
32
33
34

E06891 RD 580PRO logo red 2

E06820 Diamatic logo 4

5/37




SDi tic
The choice of professionals

6/37



S Diamatic

The choice of professionals

Part number

Description

REIMEIES

35 BG005847 Protection cap 1
36 BG11924 Upper belt 1
37 BG11960/RD Motor 400V/690V 1

BG11960-1/RD | Motor 230V/400V 1
38 BEO654 M8x16 set screw DIN 916 4
39 BG005808 2 Coupling upper part 1
40 BE0646 M14x120 hexagon socket head bolt DIN 912 3
41 BG005810 Flange motor seat 1
42 BG005811 Motor seat 1
43 BG005844 Coupling plastic star 1
44 BG11829 V-seal 1
45 BE0647 M8x90 hexagon socket head bolt DIN 912 6
46 BG007808 1 Coupling under part 1
47 BE0188 M6x25 hexagon socket head bolt DIN 912 1
48 BG005839-1 Protection cover 1
49 BE0655 M6x12 hexagon shoulder screw 4
50 E06281 Water T-coupling 1
51 E06278 Waterhose 1,5m
52 E06276 Pipe clamp 2
53 E06897 Slide strip 2m
54 E06293 Nut for knee coupling 2
55 E06280 Water knee coupling 2
56 E04551 Plastic cap 1
57 BG005849 Brush for floating shroud 1
58 BG005855 Floating shroud 1
59

7/37




S Diamatic

The choice of professionals

Upper drive

8/37



S Diamatic

The choice of professionals

ltem ‘ Part number ‘ Description Remarks ‘ Qty.
60 BE0631 M8x40 hexagon socket head bolt DIN 7984 4
61 BG005856 Contra pulley 1
62 BE0648 Key 8x7x18 DIN 6885A 1
63 BG005805-1 Pulley 1
64 E01560 Taperlock 1
65 BE0443 M10x25 hexagon socket head bolt

66 BG005860 Upper tensioner 1
67 BG005813 Holder 2
68 BG005809 Motorplate complete 1
69 BG005857 Centre pulley 1
70 BG11904 Middle belt 1
71 BG005834 Lower plate upper drive 1
72 BG005807 Ring 1
73 BG007804 Flange 1
74 BE0350 M6x10 hexagon head screw 8

9/37




S Diamatic

The choice of professionals

Lower drive

10/37




S Diamatic

The choice of professionals

Part number Description Remarks

75 BG005814 Ring 1
76 BG11849 V-seal 1
77 BE0617 M6x50 countersunk screw DIN 7991 2
78 BE0051 M6x25 hexagon head bolt DIN 933 18
79 BG005827 Cover 4
80 BE0030 M8x25 hexagon head bolt DIN 933 4
81 BG005322-1 Housing complete 1
82 BG005832-1 Holder 1
83 BE0090 M8x40 hexagon head bolt DIN 933 1
84 BG005858 Drive pulley 1
85 BG005859 Pulley 3
86 BG11905 Lower belt 1
87 BG005861 Lower tensioner 1
88 BG005324 Lower plate 535PRO 1
89 BE0035 M6x16 hexagon socket head bolt DIN 912 18
90 BE0188 M6x25 hexagon socket head bolt DIN 912 24
91 BG007850 Inspection cover 2
92 BE0082 M8x12 hexagon socket head bolt DIN 912 6
93 BG0005826 Ring 3
94 BG11797 V-seal 3
95

96

97

98

99

11/37




S Diamatic

The choice of professionals

Contra pulley BGO0O5856

v

ltem ‘ Part number ‘ Description Remarks ‘ Qty.
100 BG005803 Belt pulley 1
101 BEO0109 Key 8x7x20 DIN 6885A 1
102 BEOO76 Retaining ring for shaft @25 DIN 471 1
103 BG005802 Bearing house 1
104 BEOO77 Retaining ring for bore @52 DIN 472 4
105 222-2331-E Bearing 2
106 BG005801 Axle 1
107

12/37



S Diamatic

The choice of professionals

Centre pulley BGO05857

ltem ‘ Part number ‘ Description Remarks ‘ Qty.
108 BG005812 Sprocket 1
109 E03703 V-seal 1
110 BG005806 Pulley 1
111 E01490 Bearing 1
112 E03993 Retaining ring for bore @90 DIN 472 1
113 BE0126 Retaining ring for shaft @50 DIN 471 1

13/37



S Diamatic

The choice of professionals

Drive pulley BGO0O5858

14/37




S Diamatic

The choice of professionals

ltem ‘ Part number ‘ Description Remarks ‘ Qty.
115 B20404 Bearing 2
116 BG005815 Bearing house 1
117 BE0256 Key 8x7x30 DIN 6885A 1
118 BG005818 Axle 1
119 BE0269 Key 10x8x32 DIN 6885A 1
120 E00718 Taperlock 1
121 BG005820 Pulley 1
122 E00951 Retaining ring for bore @62 DIN 472 4
123 BG005821 Bearing house 1
124 B21631 Retaining ring for shaft @30 DIN 471 2
125

126

15/37




S Diamatic

The choice of professionals

Pulley (3x) BGO05859

16/37




S Diamatic

The choice of professionals

ltem ‘ Part number ‘ Description Remarks ‘ Qty.
127 B21631 Retaining ring for shaft @30 DIN 471 3
128 RB100A3-350 Taperlock 1
129 RB165-2 Pulley 1
130 BG11817 Bearing 2
131 BG005816 Axle 1
132 E00951 Retaining ring for bore @62 DIN 472 4
133 BG005817 Bearing house 1
134 BE0256 Key 8x7x30 DIN 6885A 1
135

17/37



S Diamatic

The choice of professionals

Upper tensioner BGO0O5860

ltem ‘ Part number ‘ Description Remarks ‘ Qty.
136 BE0074 Retaining ring for shaft @20 DIN 471 1
137 222-2245 Bearing 2
138 BG005830 Axle for tensioner 1
139 BG005831 Tension plate 1
140 BE0130 M10x25 countersunk screw DIN 7991 1
141

142

18/37




S Diamatic

The choice of professionals

Lower tensioner BGO05861

Item Part number Description Remarks Qty. ‘
143 BEO0Q70 Retaining ring for shaft @15 DIN 471 2
144 BG11792 Bearing 2
145 BE0618 Retaining ring for bore @35 DIN 472 4
146 BG005836 Pulley 1
147 BG005837 Axle tensioner 1
148 BE0458 M8x25 countersunk screw DIN 7991 2
149 BG005833 Tensioner 1

19/37




S Diamatic

The choice of professionals

Buffer plate for surface preparation (3x)

20/37



S Diamatic

The choice of professionals

Part number Description Remarks
igg BG18550007-1 185mm diamond holder complete 1
1o | BG185500071-1 | 185mm diamond holder 1
150 BG11805 Buffer plate 1
151 M8x25 hexagon socket head bolt small | DIN 7984
BE0204 + BE0S84 + M8 spring washer small DIN 7980 3
152 BG11806 Buffer soft 3
153 BG11809-1 185mm diamond holder only 1
154 E06446 Magnet 3
155 BG11811 Centering star 3
156 BG11810 M6x10 countersunk screw DIN 7991 6
157 BE0456 M8x16 countersunk screw DIN 7991 3
158 BE0314 M8x30x1,5 washer 2
159 BE0030 M8x25 hexagon head bolt DIN 933 1
160- .
165 BG300118 185mm cutter housing complete 1
160 BG300505-1 185mm cutter housing 1
églﬂ BG300133 Locking pin & screw 6
163 BG300130 Axle 3
164 MPL48 Washer 15
165 BG300109 Cutter 12
| 166 E07185 DIAMAG 185mm adapter plate 1
BG200994 Plate for wings 185mm 1
BG200989 Dry polish dot holder 185mm 1
167 DIAMAG grinding wings 3
168 E06447 DIAMAG adapter plate for dots 3
169 Dry polish dots 3

21/37




S Diamatic

The choice of professionals

Buffer plate for polishing (3x%)

22/37



S Diamatic

The choice of professionals

Part number

Description

REIMEIES

175 BE0579 7/16 x 2"/ hexagon UNC bolt 4
176 BG2402001 Flexplate adapter for axle 1
177 BE0012 M8x25 hexagon socket head bolt DIN 912 3
178 BG400310 Morflex coupling 1
179- . .
182 BG1852002-1 Flexplate 185mm diamond side 1
179 BG18520021-1 Flexplate 185mm only 1
180 E06446 Magnet 3
181 BG11811 Centering star 3
182 BG11810 M6x10 countersunk screw 6
183 BE0456 M8x16 countersunk screw DIN 7991 3
184 E07185 DIAMAG 185mm adapter plate 1
BG200994 Plate for wings 185mm 1
BG200989 Dry polish dot holder 185mm 1
185 DIAMAG grinding wings 3
186 E06447 DIAMAG adapter plate for dots 3
187 Dry polish dots 3

23/37




S Diamatic

The choice of professionals

3. Electric schedules
E06863 / 3x 400V / 7,5kW / frequency drive

Jeaj -
Jaquinu AILPIY - |4
J3qWINU UoISIARY - |_
H#H H#HE #H#(d
d3GWNN ONIMYEA

Jaquinu Bujuuny - |_

11T
300D 3¥0D

abed s|npayos -

1an3] joquids -
Jaquinu Bujuuny - |_

1471
300D TOIWAS

aYM -
AUYM -
AYM -

U319 /MO||3A -
3aeg -
Ade|g -
e|g -
51000

(oanrz) punolg / snuily
s4m dn-yooH

(oanyz) snid

abe3jon [onuod

3d / yues

A0OF B=3j0A ulely

JO102 FJHIM

24/37



S Diamatic

The choice of professionals

s

Buyssy=z 18w wapsSls

wapyBls

puISizam 24PaRBa

dafs spuBIpeq s

e pssBu Byl

Bijod- JeswoInesaE =Sy

Bijod-g eRwoINezaEyEIsul

Byjod-T 2eewmnesge e

IPSERRLIEPIO0Y

HEGOER, SpiEpE

BPEPS IS

peybpanpus

BypEy

aSNy LM [BUILLIS |

[eunuis]

PEIUCD S|GEAOLL LIM I0]SISSY

EUE

WISIUBLISL LIHMS LM
YI9IMAS DEOLSAC 1030LL
JENERIY JN2ID J8Mmod

ajod-aa.y3 IeyEaIg N0

Slod-omy “IEyeaIq UNUD

ajod-s|buis “1=yesug N

IUMS UlRly

ajod-ssiuy} ‘PsuucIsp pasnd

ajod-aaiy ‘yoyms pasng

asry Ajajes

EI=E=TH
= 4

_|_|_|mm_|_

JCIPLAGEUR UIDONS

SOOPOEWCOPUEM

Buewss
puESEaM

SuapEa 1L

spnd jsods

Bubeamnen

Jew [Bods

Busben By
35w [20dg

jaods

JONELLIOJSURD

i3[Euan

AmEwRIRdue

wiooy

duseyeeubis

JBULIOJSURL JUSLIND

105

buneay [ Joisisay

06y agnL

‘Ilo3 asind Aejau
j1o3 asjnd JopeIuoy

AeEp no-doip yam
‘102 AepsafiopEaucy

Aejap dn-yoid Lam
103 ABja.I0DEUCY

|03 Aejal

107 101ECD

Jaluojsuern

JEunoI
JnoyBuiuun

Jaswrwde

wioy

by jeubis

eeEyeLpssBULEpEL

IEEEEspUIE

ISP

eesniBiy
FLL TN

aweBllin aisqeeip
3= doyspool

JEEE{ESIEED

eepEyEsEeIp i

puznlig
coupnip

pussanbE
dowpynip

pusynjs pheensa
“PEILoTERIgEA

uado pheenisn
eSS Sty

puzinfs pleenEa
pEjU0IyERL

uado pheenEs
“PEYUaTERL

euoasusbowss

Deodiny

Loms Ajupxold

yoyms Jwn

Y2IMS unssald

22IMS J3EISOLIBLL

Jojun Ale1od
n_ouv_m __,_ucwmgw_._._w

Gupo)
pums Alejoy

punogas
ypums Arejoy

Bupo)
uonoqysnd

punogas
uaoqysnd

Agjap swi ypm sasop
“1oBUOD N

Aejap awi yum suado
“1DEUOD TN

ABj3p B YHM 535003
‘PEjuo2 ON

Aejap swi yym suado
“EJUOD ON

1PEILOD JBMod

e Aseyxne

4N

25/37



Rl

The choice of professionals

S Diamatic

ss219/STI
'dS YZ€
D3
Wwiiey-330 $51g/5ZIN
UORINPIY/9TIW <= 0ZIA
N e + Vd/9TIW ﬁf —
7
vd/9TI —
ul @ | —
1ST1 s
THz1
ZSNIT @ speypeq i
not eI 1STT O @ oW ﬁ&ﬂﬁ_% X
_M ISNTI
© —
- 7
JBADJY 7
_ﬂ Yd/0ZIW Aeydsig | —
- 7
7

5
e

ss21g/0z {

26/37




The choice of professionals

S Diamatic

HOLIMS
NYWAvIa

31013y

Ushq pus 1 Y s ysnq pu= alpp
.._.. / y DAd WX P.M
59 | 0z ! 55T
wwgos = WBu3| B0
19NIGYD J10K3Y

ysng pus alipy

\ \ ad]-Ing wwg/ pxg]

;7

ysng pus alipy

=0

(14

00T

{mojaA/ussn) =34
pu=|5 Sjge Q3 S ur
PE133UU0D 2q 01 51 PUP PRILIS = b

Skl MaEA
B2, sjge> 243
I = (A=in) €
1A= DPRE] 2

WUIOSTT = WBUS] 2101

SIS UoIQZBUU0D J0J0W Uo UoNE|NsUl sAes| ‘fm)__mv_u Jod

(wwpoT 2 Bumno Auo) pjays 1s0ud o3

0 = (umoig) T
LT

Bey 2/ge3 10y
‘pusBis

/o /
\ \ [FADISAZ WXt
o/

58
d0LOW

Skl MOJBA
B migen 243
1pusbay

056

0ot

wwipozT = Wbus| g0

27/37



The choice of professionals

S Diamatic

€
ral
n

IPAFE
abeyjon jonuod

o1t 01T
SaA0 daakz
3
gy
AT
S| e
~] 1p01
AH 2

Gl
<l |<I[<If~
=

gz

wTT
T40T

wids 0SpT
2ZHOS ¥Z'ST AQOK

IE"Z 1030
"wal gggT
WVZST=ML
HOS A0
~E NAS'L
— TWOT
[}
3d M N n
|||||||| N
L U [ I
e = N
Y R O I
o o 0o 0
3d Bl [N T
TEALY
iy
WOLT WL
12 =y
3] ral njrao
¢ ¢ 7 |wor
-

ZHOS YZE ADOF
Aiddns Jamod

WEE/NOOE
[ 05 W33

z' ay oy o X0T

w
4

28/37



The choice of professionals

S Diamatic

LIEIS J000k daoys Aousbusug
07T DAAD DAND / FoT
E I 1 ' ¥ TTT505-5dX
58 EI ¥y oy o
95 TX ¥ 9IX
¥ e fad T dois3
NITSIT f——@)f -l ISNTT
a3 1] 1| =
SOTX
coxs-p3
# z PSR 350
tO pOESNTT
3 T
0TE [ HMdA LT
0Tr ] +ALT £ T0TX
Ldie ety ; DANE [ F10T

29/37



The choice of professionals

S Diamatic

20MT

Buuuna
anug

paads
10300

{e} M2
O30 1030}

DAAD /8T

THZT apisjoed

zTfTx

TT/EX

[

0T/TX

yd
THET

2
TLALY
A
w u.%z nege g oL +ﬁ« R z.mu W
TnoT
e e org IX a0 TX
— Lo L R 1 Wby
# T4ET e 15Tt
= a ot
Lo TX

UMY (81T

ALY /610

®OOME (6T

30/37



S Diamatic

The choice of professionals

£71 o1+ not ' o ™ THzI =
€71 <TI¥ ot ' i ©® TNz
[ v ot ' [ ® TNz
71 m ot ' [ [ 1521
T m ot ' g o1 1521 =
T ¥l ne ' 2 € 1521 120 1030k
T TA mit ' 3 1 s1T =
[l [ it ' s 5 1sT1 13 030l
I [ it ' ¥ [ TSNIT =
T Z3dinD THZIHTADT ' B 3 ZSNIT =
I w it . z 7 TSHIT =
B JTHAKT TNOTHTADT . 1 T ST dous AauzBiaug
ST 3d Mot ' 3
uwnjos / sbeg uoneubisap 18big ] uoneubisap 1ebiel E} uoRIuny
c c

g8, g | E |8 g

o | 8§ £ E | g8 w

£/ E 2 | 8|k ]

vl 9 ] o)

¥ SPAYT [RUILLIBL ¥

2 2

2 X 2

8 8

dins

welbelp |euiuwa ]

31/37



S Diamatic

The choice of professionals

SEQLWd 9TZ'05

ST HIOWTALHYM

S'T45Tk NP

SEQLWd 91905

S'T45TH Wd TELEYA

w

1,9TH PUEE 392D

SEQLWd 07205

DT HIOWTILHYM

S'T402H WPy

SEQLWd 07305

S'T.0TH ¥d TELEYA

51,00 PUS 3{g=D

MEE I
E I ENEEEEEEEEE

W 02205 02K SHONTELEVA PRG-I & T, 020 R0
T 02305 57,0211 BLHG PR [9 §'T,02W PURID #1970
10d/W 52205 104/ 2205 O3 PREEEPIN 67,57 0 EP0T
ArEIW 52305 ARE/W 52305 i3 PRI §°T,50H PURS 2=
BUREA 3E 9749 25304 B SeUyUpU TGN =AU PUIE 2

00008097 T ML/dVZ QI3 S'Z NAZ ==0 pu3 T
0000TSB0ST 52 NdZ a3 sLUWE T |PUILLE S8 T [43

0000F5E03T UIWE'F [PUILLED 3 3AM T T

0000000F56 SE M3Z a3 e pul [4

"B P 1= 2151052 pienG =6uy Ry T

“YBq'T 1EPY SEE-TIT i)y uPy 1

20APT TEL 08,08 Nvd PTER N4 ueg T

IT60Y 282 ZI6aY 582 JEBL0g T

PAZ AT 195 =1awnyg PEZ W1 BSEELINg HOT dod-wii 1

T NIZ T HEZ WX ON WsuBsE T

I NIZ TEITT KT T DN WSS T

IOV =az LAy 582 Spury ypoms T

T NIZ T KT T ON WeuBsE T

LETO'TO'ED EEEYY 587 <LH¥LS, N3TYD Uonngusng T

I NIZ TZITI KT T DN 3= T

FHRSY S8 FPESY 587 o0ls Auahiaws T

TIZ-50K + Z64¥d-50% TZ-50K + Z6£Nd-50K L R i ] T

TZEEY-SdX TZ1SDW-5dX Aepu dags Auabiawg T

DEOPTSAMETEY QEQFISAYSTEY T

S0LETAD SO0 ZAD T

FNSENHTLALY NSLMHTLALY T

0£5259 49 OESZSD 45 33005 13000 |24 SR WI33) WEE T

00 T 00 X SUTAng & 194 ST04/SEQSTYY 2NS0[U3 T

WdSTHOTH 57491 =-07 Wd Uonmangay 51457 <- Dl Lonanpsy T

T

T

T

T

T

T

T

T

T

T

FLEES

13315 FTEER

05EX05y ¥7(d Buatrow

" QEZR00F00S 2ANG0PUR 25

ME]
EES

&5

saquinu ped

Jequinu adA]

uoneubisap

fanuengy

bBey aomap

35I| SHed

32/37



S Diamatic

The choice of professionals

4. Fault diagnose frequency drive

For a complete overview of faults and how to resolve them, check the operating manual
of the frequency drive or the CD, which are delivered with the machine.

If you put the CD in the computer, it will automatically go to the manuals.

Does the inverter shows an “INF” fault, reset the machine.
If the machine does not work after that, call you distributor.

To reset the machine, put out the power supply and wait 5 minutes.
Then start up the machine again. Call a technician if the machine still not works.

I Fault Name Probable cause Remedy
R I2F |[Al2 input] = Mon-conforming signal on analog = Cheack the wiring of analeg input AI2 and the value of the
input Al2 signal
AaF [Load slipping] = The encoder speed feedback does » Check the motor, gain and stability parameters
not match the reference = Add a braking resistor

» Check the size of the motor’drivel/load
= Check the encoder's mechanical coupling and its wiring

LOF [DER owverload] » The braking resistor is under = Check the size of the resistor and wait for it to cool down

excessive stress = Check the [DB Resistor Power] (brP ) and [DE Resistor valus]
(brl} parameters, page 271

b ~ F |[Brake feedhack] = The brake feedback contact does = Check the feadback circuit and the brake logic control circud]
not match the brake kogic contro = Check the machanical state of the brake

L U F  |[DB unit sh. Cirewit] |= Shor-circut gutput from braking unit = Check the wiring of the braking unit and the resistor

= Check the braking resiswor
L~ F { |[Precharge] » Load relay control fault or charging = Switch the drive off and then back on again

resistor damaged = Check the internal connecticns

C - F 2 |[Thyr. soft charge] |- DG bus charging fault (thyristors) » Inspectirepair the drive

EC F |[Encodercoupling] |+ Break in encoder’s mechanical coupling [+ Check the encoder’'s mechanical coupling

EEF { |[Control Eeprom] = Imtermal memory fault, control card = Check the environment (electromagnatic compatibility)
= Turn off, reset, return to factory settings

EEFE 2 |[Fowsr Eeprom] + Intermal memaory fault, power card * Inspectirepair the drive
EnF [|[Encoder] » Encoder feedback fault = Check [Mumber of pulses] (PG} and [Encoder type] (EnZ),
page 12
= Check that the enceder's mechanical and electrical
aperation, its power supply and connections are all correct
= If necessary, reverse the direction of rotation of the motor
{[Cwtput Ph rotation] (PHr) parameter, page 24) or the
encoder signals
ECFE ¢ |[Out contact. stuck] |- The output contacior remains closed [« Check the contactor and its wiring
although the cpening conditions have |» Check the feedback circuit
been met

33/37



S Diamatic

The choice of professionals

Fault Name Probahble cause Remedy
HdF [IGBT = Short-circuit er grounding at the drive | = Chack the cables connecting the drive o the motor,
desaturation] output and the insulation of the motor
= Perform the diagnostic tests via the
[1.10 DIAGNOSTICS] menu
ILF [internal com. link] |+ Semmunication fault between option |- Check the environment (electromagnetic compatibility)
card and drive = Check the connections
= Check that no more than 2 option cards (max. permitied)
have been installed on the drive
» Replace the option card
= Inspect/repair the drive
IaF | |[Rating error] = The powser card is different from the  |» Check the reference of the power card
card stored
In F 2 [[Incompatible PB] = The power card is incompatible with the = Check the reference of the power card and its compatibility
conirel card
I~ F 3 |[Internal senal link] [« Communication fault between the » Check the internal connections
internal cards » Inspectrepair the drive
iaE Y |[Internal MFG area] |- Internal data inconsistent » Recalibrate the drive (performed by Schneider Electric
Product Support)
I nF 5 |[Internal-option] = The option installed in the drive is not » Check the reference and compatikility of the option
recognized
!aF 7 | [Internal-hard init] |« Intialzation of the drive is incomplete = Turn off and resst
' a F 8 [[Internal-ctr supply] [+ The control powsr supply is incomect = Check the control power supply
I~ E 9 |[Internal- | measure] [« The current measurements are incomrect [+ Replace the current sensors or the power card
= Inspectirepair the drive
!aF A |[Intermal-mains = The input stage is not operating = Perform the diagnostic tests via the
circuit] carrectly [1.10 DIAGHNOSTICE] menu
= Inspectirepair the drive
!aF L | [Internal- th. = The drive temperature sensoris not |- Replace the temperature sensor
sensor] operating correctly = Inspactrepair the drive
InFC |[internal-time = Fault on the electronic ime = Inspect/repair the drive
meas.] measurement component
{naFE |[internal- CPU | = Intermal microprocessor fault » Turn off and reset. Inspectirepair the drive
oCF [Owercurrent] = Parameters in the [SETTINGS] (5Et-) |» Check the parameaters
and [1.4 MOTOR CONTROL] (drC- » Check the size of the motorfdrivelload
menus are not correct » Check the state of the mechanism
= Inertia or load too high
= Mechanical locking
P~ F |[Fowerremoval] = Fault with the drive's "Power removal « Inspectirepair the drive
safety function
g g ¢ |[Molorshort circuit] (- Shori-circuit or grounding at the » Check the cables connecting the drive to the maotor,
— T drive output and the insulation of the motor
SLF ¢ |[mpedant sh. circui] + Perform the diagnostic tests via the
[ F 3 |[Ground shor circui] [1.10 D|F‘\.Gr'\o-\'._'_lT|.:E]:I'I'IE"IU
+ Significant earth leakage current * Reduce the switching fraquency
at the drive output if several motors = Connect chokes in series with the motor
are connecied in parallel
soF |[Cverspeed] = Instability or driving load too high = Check the motwor, gain and stability parameters
= Add a braking resistor
= Check the size of the motor’drivelload
5P E |[Speed fdback loss] |« Encoder feedback signal missing = Check the wiring between the encodear and the drive
= Check the encoder
L aF |[Auto-tuning ] = Special motor or motor whose power » Check that the motoridrive are compatible
is not suitable for the drive
= Motor not connected to the drive = Check that the motor is present during aute-uning
= If am cutput contactar is being used, close it during
auto-tuning

34/37




S Diamatic

The choice of professionals

I Fault Name Probable cause Remedy
REPF [Applhcation fauli] = Controller Inside card faulk = Plzase refer to the card decumsantation
LLF [Brake control] = Brake release current not reached » Check the driveimoter connection
= Check the motcr windings
= Check the [Brakes relzase | FW] (lar) and
[Brake release | Rav] (Ird) settings, page 142
» Brake engage frequancy threshaold = Apply the recommendsad settings for
[Brake engage freq] (bEn) only [Brake engage freq] (bEn)
regulated when brake logic control
is assigned
CnF [Coem. network] = Communication fault on = Check the environment (electromagnetic compatibility)
communization card = Check the wiring
» Check the time-out
= Replace the option card
= Inspectrepair the drive
FOF [CAM com.] = Interruption in communization on the |- Check the communication bus
CAMopen bus = Check the time-out
- Refer to the CANopen user's manual
EFF | |[External fl-LI'Bif] |- Fault triggered by an exiernal device, (- Check the device, which caused the fault, and reset
depending on user
EFFZ |iExterna = Fault triggered by a communication = Check for the cause of the fault and resst
fault com.] netwark
ECF& |[out = The output contacior remains open = Check the contactor and its wiring
{'m ntact open] although the closing conditions have |- Check the feedback circuit
been met
LCF [input contactor] = The drive is not turmed on even though |- Check the contactor and its wiring
[Mains V. time out ] (LTt has elapsed [+ Check the time-out
= Check the line/contactor'drive connection
LFFZ& |[A124-20ma loss] |- Less of the 4-20 mA reference on = Check the connaction on the analog inputs
LFF 3 |[AI34-20mA loss] analog input AlZ, AI3 or Al4
LFFY [[Al44-20mA less]
O&F [Overbraking] = Braking too sudden or driving load = Increase the deceleration time
= Install a braking resistor if necessary
= Activate the [Dec ramp adapt.] (bra) function, page 127,
fit is compatible with the application
OHF Drive overheat] = Drive temperaturs oo high = Check the motor lead, the drive ventilation and the ambient
) ) temperature. Wait for the drive to cool down before restarting
OoLF [Motor overload] = Triggerad by excessive motor current |- Check the setting of the moter thermal protection. check the
motor laad. Wait for the drive to cool down before restarting
OFPF i |[1output = Loss of one phase at drive output = Check the connactions from the drive to the motor
ohase loss]

35/37




S Diamatic

The choice of professionals

I Fault Name Probable cause Remedy
OFF 2 |[3ouput phase loss] | - Metor not connected or motor = Check the connections from the drive to the motor
power too low = If an cutput contactor is being used, parameterize
= Dutput contacior open [Dutput Phase Loss] (OPL) = [Dutput cut] (DAZ), page 201
= Instantansous instability = Teston a low power motor or without a motor: In factory
im the motor current settings mode, motor phase loss detection is active
[Output Phase Loss) (CPL) = [Yes] (YEE). To cheack the drive
n a test or maintenance environment, withaut having to uss
a motor with the same rating as the drive (in particular for
high power drives), deactivate motor phase loss detection
[Output Phase Loss] {OFL) = [Me] (nO
= Check and optimize the following parameters: [IR
compensation] (UFr), page I, [Fated motor volt.] (UnS
and [Rawed mot. current] (nCr), page Z2. and perform
[Auto tuning] (tln), page 85
OSF [Mains overvoliage] (- Mains voltage oo high = Chack the mains voltage
= Disturked mains supply
OEF | |[PTC1 overheat] = Owverheating of the PTC1 probes - Check the motor load and motor size
detected = Check the motor ventilation
Ok F 2 |[PTC2 overheat] - Overheating of the PTC2 probas  |° Vit far the mater to cool befare restarting
- datected = Check the type and state of the PTC probes
OEFL [[LIB=PTC overheat] (- Owverhieating of PTC probes
detected on input LIS
FEF | |[PTC1 probe] = PTCA1 probes open ar short- » Check the PTC probes and the wiring betweaen tham and the
circuited matardrive
FEFE |[PTCZ probe] = PTC2 probes open or short-
cireuited
FEFL [LIE=PTC probe] = PTC probes on input LIS open or
) ' short-circuited
SCFY [[IGET shor circuit] |+ Power component fault = Perform a diagneostic test via the [1.10 DIAGNOSTICS] menu
: = Inspectirepair the drive
5CFE | Motor short circuit] | Short-circuit at drive output = Check the cables connecting the drive to the moter, and the
) ) matar's insulation
» Perform diagnostic tests via the [1.10 DIAGNOSTIZS] menu
» Inspectirepair the drive
5L F 1 |[Modbus com ] = Interruption in communication on = Cheack the communication bus
the Modbus bus = Check the time-out
= Refer to the Modbus user's manua
5L F 2 |PowerSuite com.l = Fault communicating with = Chack the PowsarZuite connacting cable
) ) PowerSuite  Chack the time-out
SLF3 |[HMIcom] = Fault communicating with the = Chack the terminal connection
graphic display t=rminal = Chack the time-out
E-F [Toergue time-out] = The time-out of the torque contral [+ Cheack the function's settings
function is attained = Cheack the state of the mechanism
S5F |[Torquelcurrentim] |* Switch to torque limitation = Check if there are any mechanical problems
: = Check the parametars of [TORQUE LIMITATION]
(1LA-) page 170 and the parameters of faul
[TORQUE CR | LIM. DETECT ] (tld-), page 210}
L IF NEET overheat] » Drive owverheated » Check the size of the load/motor/drive
: ) » Reducs the switching freguency
= Wait for the motor 1o cocl before restarting

36/37




S Diamatic

The choice of professionals

Fault Name Probable cause Remedy
CEFE [Incarrect config.] = Option card changad or removed = Chack that thers are no card ermors
= In the event of the cption card being changediremoved
deliberately, ses the remarks below
= Control card replaced by a control » Check that there are no card errors
card configurad on a drive with a = In the event of the control card being changed deliberately,
different rating see the remarks below
» The current configuration is = Return to factory settings or retrieve the backup
inconsistent configuration, if it is valid (see page 222}
CF I [Imvalid config.] = Invalid configuraticn = Check the configuration loaded previously
: The configuration loaded in the drive |- Load a compatible configuration
via the bus or communication network
is imconsistant
HC F |[Cards pairing] = The [CARDS PAIRING] (PPI-) = In the event of a card error, reinsert the original card
funection, page 212, has been = Confirm the configuration by entering the [Pairing passwaord]
configured and a drive card has (PRI} if the card was changed deliberately
been changed
PHF [Input phass loss] |+ Drive incorrectly supplied or a fuse = Check the power connection and the fuses
blown
= Failure of one phase
= 3-phase ATWT1 used on a single- » Use a 3-phase mains supply
phase line supply
= Unbalanced load = Disable the fault by [Input phase loss] (IPL) = [Ma] (nQ)
This protection only operates with the (page 202)
drive on load
USE [Undervoltage] = Line supply oo low » Check the voltage and the parameters of
) ) = Transient voliage dip [UMDERWVOLTAGE MGT] (USb-), page 202
= Damaged pre-charge resistor = Replace the pre-charge resistor
» Inspectrepair the drive

37/37




